O 758k NE|AE =2 S
TE Y= T
=4 5yg= HE 71| T tEdda | HE 71 el X7rEddal
1 +A0[25 % (pH) - - 8.8 - - 6.9
2 | M=t At SEF (BOD) - mg/X 10,180.7 30 O35} mg/% 27
3 % J7|EtA (TOCQ) - mg/X 11,950.3 55 0|3} mg/% 13.8
4 BEo2F (S9) - mg/! 10,651.6 30 O[5t mg/2 2.4
5 = HA (T-N) - mg/! 4,429.426 60 0|5t mg/2 14.743
6 % 21 (T-P) - mg/X 386.627 8 0|5} mg/% 0.111
7 EN P - /L 156,000 3000 O[Sk ZH/L 22

O 2k MEAE X2 HE

T2 Y e
=H sdg= HE 71E| T 7tEEEAN | HE olE] e X2tEd da
1 F=20|25% (pH) - - 8.0 - - 6.8
2 | A=t M4 Q48 (BOD) - mg/! 3,809.5 30 0|8t mg/2 1.8
3 & {7|EtA (TOCQ) - mg/X 4,208.2 30 O35} mg/% 11.1
4 F2=2E (S9) - mg/X 5,140.0 30 O35} mg/% 1.8
5 = A (T-N) - mg/! 1,698.400 60 0|3} mg/2 9.296
6 = 0l (T-P) - mg/2 181.090 8 0|5} mg/2 0.138
7 SUHE = - =/m@ 56,800 3000 O[3t ==/me 34

o
T2 Y gET
= ] HE 718 T i=sddn |98 718 ol CHa =7 2ot
1 +20|28% (pH) - 73 5.8~8.0 - 7.2
2 | ME3et LAQ 2 (BOD) - mg/% 776 30 O35} mg/X 18
3 otstA At R LEHCOD) - mg/% 122.5 200 O[5} | mg/t 434
4 BEoEF (S9) - mg/! 70.0 30 0|3} mg/% 47
5 = A4 (T-N) - mg/2 191.800 100 O[3} | mg/t 66.100
6 % ol (T-P) - mg/! 2.086 4 0|3} mg/% 0.062
7 ST - 2=/me 10 100 O[S} | ==/me 0
O &718 s M2A|E s=X2| g
T2 Y gEr
= ] HE 718 T isdEdn |88 718 ol CHE =7 20t
1 F40[25 % (pH) - - 73 5.8~8.0 - 7.7
2 | MEEH LA e (BOD) - mg/% 36.1 30 O3} mg/X 1.2
3 tetA it 2 L 2HCOD) - mg/% 117.3 200 O[3} | mg/t 324
4 E2REH (SS) - mg/2 18.7 30 O|&} mg/2 1.5
5 = 2 (T-N) - 2=/ml 96.200 100 O[3t | ==/me 56.400
6 = 9l (T-P) - mg/! 0.428 4 0|3} mg/% 0.025
7 S - mg/% 0 100 O[5} | mg/t 0




